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𝑑(𝑥, 𝑦) =  |𝑥 − 𝑦| =  √∑ 𝑤𝑖(𝑥𝑖 − 𝑦𝑖)2 

𝑛

𝑖=1

 



 

 



𝑐𝑜𝑛𝑓𝑖𝑑𝑒𝑛𝑐𝑒({𝑆𝑐ℎ𝑢ℎ𝑒} → {𝑆𝑜𝑐𝑘𝑒𝑛}) =  
𝑠𝑢𝑝𝑝𝑜𝑟𝑡 ({𝑆𝑐ℎ𝑢ℎ𝑒, 𝑆𝑜𝑐𝑘𝑒𝑛})

𝑠𝑢𝑝𝑝𝑜𝑟𝑡 ({𝑆𝑐ℎ𝑢ℎ𝑒})

 



 





 

 





 





𝜀 = ∑ 𝑤𝑖𝑗𝑒𝑗

𝑛

𝑗=1

.

𝑐 = 𝑠 ∗ 𝜀.





 





 



 

 



 

 

 



 

https://www.fbi.h-da.de/fileadmin/personal/k.kasper/Materialien/ASR/asr3.pdf
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𝑒 =  ∑ 𝑠(𝑡)2

𝑡𝑒

𝑡=𝑡𝑎

𝑒𝑙 = 𝑙𝑜𝑔10𝑒

 



𝑆(𝑛) = 𝐷𝐹𝑇 (𝑠(𝑙))

                            =  ∑ 𝑠(𝑙) ∗ 𝑒
−2𝜋𝑗∗𝑛
𝐿∗(𝑙−𝑡𝑠)

𝑡𝑠+𝐿−1

𝑙=𝑡𝑠

ℎ(𝑖) = 0,54 − 0,46 ∗ cos (
2𝜋𝑖

𝐿
)        0 ≤ i ≤ L − 1.



 

𝑠′(𝑛) =  ∑ 𝑎(𝑘) ∗ 𝑠(𝑛 − 𝑘).

𝑝

𝑘=1



𝑒(𝑛) = 𝑠(𝑛) − 𝑠′(𝑛) = 𝑠(𝑛) − ∑ 𝑎(𝑘) ∗ 𝑠(𝑛 − 𝑘).

𝑝

𝑘=1

𝑅 ∗ 𝑎 = 𝑟

𝐸(𝑧) =  [1 − ∑ 𝑎(𝑘) ∗ 𝑧−𝑘

𝑝

𝑘=1

] ∗ 𝑆(𝑧).

𝐴(𝑧) = 1 −  ∑ 𝑎(𝑘) ∗ 𝑧−𝑘

𝑝

𝑘=1

𝐸(𝑧) = 𝐴(𝑧) ∗ 𝑆(𝑧).

𝑆(𝑧) =
1

𝐴(𝑧)
∗ 𝐸(𝑧).



 



 



 

𝑎𝑖,𝑗 = 𝑃(𝑞𝑡 = 𝑆𝑗| 𝑞𝑡−1 =  𝑆𝑖),        1 ≤ 𝑖, 𝑗 ≤ 𝑁.



 

𝑸̂

𝑄̂

 



 



o 

o 

o 

WK = 
NW - NV - NA

NW
      WA = 

NW – NV – NE – NA

NW
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